® y=2x-3 @ y=-2x+3 @ y=2x+4



v

lo
1o,
o
Y
]
-+
lo
I
i)
Iz
2
u)
ok
%
o,
of
sl
N,
&2
Flo
N
Tlo
-0

(7Hy=5x
() y = -2+
() y=2¢
Ehy= —1x2

@ (e (ch 2] Tz x Zof disto] A2 gholct.
® x % oleh %ol LA e i (), (2} oIt




oJ2Fetr y = ax? + bx + ¢ & A4 x = 2 o Histo] HiH o], A
y=x-1 )= Aol x %713, 24 W, a+b+c 9 G
T-5hH?

1 2
ONI] @ 3 ® 3 @ 1 ® 2



gtk

ofell 13} 2ol 40m ¢
=i

4.

x o] g7

=1
Sl=

o7t 7t H =%

15
oH

Ix\

@ 12m ® 14m

@ 10m

@ 8m

® 6m



et A4 y = 1640l =24}l =9

x2e] ==

1

1

o, X Y

|28 y
Hol x3

U

o

Feiet.

S

o] glo] B H4el ol A5E 7

23

==

A



